
Conditional Probability (Sec 8.5)   
 
1)  A jar contains 5 red marbles and 4 green marbles.  You are going to pick 2 marbles, one at  
     a time.  Find the probability that the 1st marble is green and the 2nd marble is green if: 
 
     a)  the 1st marble is replaced before selecting the 2nd. 
 
 
 
 
 
 
 
 
 
 
     b)  the 1st marble is not replaced before picking the 2nd marble. 
 
 
 
 
 
 
 
 
 
 
 
*Conditional Probability 
 
 ​ ​ ​ ​ ​   _____ ______ 𝑃(𝐴 ∩ 𝐵) =
 
 
  which gives:   _________      or          ________ 𝑃(𝐵/𝐴) = 𝑃(𝐴/𝐵) =
 
 
 
 
 



2)  Two fair dice, one red and one green, are rolled.  Find the probability that: 
 
     a)  the red one is 5 given that the sum is 6. 
 
 
 
 
 
 
 
 
 
 
 
 
 
    b)  the sum is 7 given that the dice have opposite parity (one die is even, the other odd). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 



 
 

 
 
 

 
 
 

 
 
 
 



*Knowing whether 2 events are independent or dependent is an important idea! 
 
ex.  Flip a fair coin twice.  Let A = the event of getting a head on the 1st flip, and B = the  
       event of getting a head on the 2nd flip. 
 
​ Find  𝑃(𝐴 ∩ 𝐵)
 
 
 
 
 
 
 
      *Note, in this case, the  ______, so A’s occurrence had ____ effect on B’s. 𝑃(𝐵/𝐴) =
       When this happens, we say that the events A and B are ___________________. 
 
       Two events A and B are ____________________ if: 
 
​ ​ 1)   ________ 𝑃(𝐵/𝐴) =
 
​ ​ 2)   ________ 𝑃(𝐴/𝐵) =
 
​ ​ 3)   ______________ 𝑃(𝐴 ∩ 𝐵) =
 
 
ex.  Two fair dice, one red and one green, are rolled.  Test the following pair of events for  
       independence. 
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